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(2) Eliminate the parameter and sketch the curve, showing direction of increasing t . { - :
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(4)  Find the mdm series for ¥ A (5 points)
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(6)  Find the length of the curve y=x* from (1,1) to (242 ,2)
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24. Match the parametric equations with the graphs labeled
I-VI. Give reasons for your choices. (Do not use a graphing

device.)
@) x=01-2t, y=1*"—1
Vi@gib) x=1'—-1, y=2-1
\V(c) x=sin3t, y = sin41
I\(d) x=1+sin2t, y=1+ sin3t

I 2 (e) x=sin(r + sint), y = cos(r +

i (f) x =cost, y=sin(t + sin 51)

| -‘T 11 YA
of X 0 X

IV YA ‘ \Y yA
0 x

cos 1)
111 YA
0 x
VI YA
o]  x



(8) Umgﬁwgwnmmmhimﬁ\dapmmmmmrw
+ . P - 5
e ... determing the radius of convergence. | 1,,;,

{10 points)

i
,3; 5 2z
Sabs/?/'ute ~3x forx

""‘3‘( Z ("'33% h /'3*/‘:{ "‘9 M‘

muuévgx

- 5x
T3 "52’5”3"""* Ale¥

T

{9) Use series to compute f xte” -~ dx with lmorf < 0,004 {10 points) \
» 001 Lt Mammﬂ w iCrma

- - ICEVS fzn*-a}n'

| _ wnEy
= = (—~t\ @ s I
W:a Czn#_aj !,,/ R

= P23 2“"5_ T2l Des!
o . L0055
A "‘""L*-'L' ) 5"’““"’#“" °"1




{10)5 QMemm Jix)y=2xInx by Ts(x), the third degme‘faybrPolymml

¥ (b) UseTaykr’s Inequality to estimate the accuracy of the
~ the interval 09=x<}.1 W "

2 (€) Use Ty(¥) to approximate (1.01) In(1.01)

1 when x fies in
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